In the table on p. 30, in the row starting with 2, there

are the numbers 2, 16, 10, 6, 4, 3.6

The number 4 should be 36.

p. 32 (p 44 / 174 in acrobat's page navigation):

4,33  should be 4.33.

p 35 (p 47 / 174 in acrobat's page navigation)

Probability Calculation column, first row, 6th line:

= (5 · 4 · 3 · 2) / (10 · 9 · 8 · 7), 5 is crossed out, but the 2 and

10 need to be as well.

Same column, second row, 5th line:

= (5 · 4 · 5 · 4 · 3) / (10 2 · 9 3 · 8 2 · 7), the only change is

that the first grayed out and italicized 2 should also be crossed out

(just like the second one).

